
 
Quiz – Emissions inventory 
 
The correct answers are on the next page.  
 

1. An emissions inventory is: 
a. A big list of things that pollute the air 
b. A calendar of when people are allowed to light their fires 
c. A letter saying it's ok to light your fire 
d. When someone spells mission inventions wrong 

 
2. True or False: Generally, burning coal creates more pollution than burning wood. 

a. True 
b. False 

 
3. What is an emission factor? 

a. A type of fire 
b. How polluting a thing is e.g. a car 
c. The amount of oxygen a thing emits 
d. How much carbon dioxide a thing absorbs 

 
4. In an emissions inventory you will find: 

a. A big list of things that pollute the air in town 
b. The emission factor for things in the town 
c. Pictures of all the chimneys in town 
d. Both a & b 

 
5. The emission factor for cars is measured as: 

a. Carbon dioxide per day 
b. Songs on the radio per kilometre 
c. Carbon dioxide per kilometre 
d. Tyres per wheel 

 
6. Which of the below would be included in an emissions inventory? 

a. Cars 
b. Fireplaces 
c. Ships 
d. All of the above 

 
7. Newer fireplaces are usually ____ polluting than older models. 

a. More 
b. Less 

 
8. True or False: Things can emit different amounts of pollution depending on the fuel 

used and how often it is being used. 
a. True 
b. False 

 



 
Correct answers 

1. a - A big list of things that pollute the air 
2. a - True 
3. b - How polluting a thing is e.g. a car 
4. d - Both a & b 
5. c - Carbon dioxide per kilometre 
6. d - All of the above 
7. b - Less 
8. a - True 

 
 


